Sensor Test
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Sensor from BNU

The size of the pad is about Imm x I1mm
(the transverse side may shorter)
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Current/A

-V Test: BV60-50-B
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The current at 60V / The current at 2V = 4.89
(Light ON)
How to test gain?

The breakdown voltage seems similar (about 107V)
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Capacitance [F]

C-V Test: BV60-50-B
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The C-V curve behaves very good between different BV60 sensors



C-V Test: BV1/0-30-B

Doping profile [cm™]
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Capacitance [F]

C-V Test: BV1/0-30-B
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About BV170, the C-V curve seems different between two pads of a sensor



